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/AR B4 134 L1137 SEROAIE | B®REH
oL AL T (3.795K ) THRH (3.33K ) =/ 11RA27H
12A1H(R) | X1 eI e H (3.82K ) Tt (3.355Ki) =/ 118278
BEO—ZXA BER T (380K ) T H (3.33K5H) = 11R27H
= EmE Tt (3.805K ) T (3.31KH) =/ 11A28RH
12A2B(CK)  |BLLHA =EFR T (3.825K ) TR (3.325K58) =/ 11RA28H
Foy FER & (3.81KH) T (3.32K5) =/ 11H28H
=k RILR TR (3.78KH) T (3.31K5H) =/ 12818
12A3B(0K)  |XK4R I TR (377K ) T H (3.30KiH) =/ 12818
hE A Tg (3.79K5H) 4.91 =M 12A18
12H4E () H3¥ TR THRH (3.825K ) TR (3.345K50) =/ 12A2H
JKEK A IIET T (3.845KH) TH&H (3.36K ) =M 12A2H
3L AT Tt (3.825K ) Tt (3.32Ki) =/ 12H3H
12A58 (&) |KR I TR H (3.86K ) Tt (3.365Ki) =/ 12H3H
KIREE A THRH (3.83KH) TR (3.343K ) =/ 12A3H
BKoER BER TR (3.81KH) T (3.33K ) =/ 12A4H
12A8B(A) |[FvAvY FER TR (3.815KH) 3.58 =M 12A4H
A FER THEH (3.80K ) T (3.33KiiH) =/ 12848




7 uie 3 BER TigH (381K ) THRH (3.33%k ) ) 12H48

=k KR TR (381K TR (3.33%k ) R 12H5H
12898 ()

3HHL LT TR (3.80%k ) TR (3.33%k ) £H 12H5H

hE LT T (3.81kK5E) T (3.34%K5E) /A 12A5H

KR HWE)IR T (3.81kK5E) T (3.34%K5E) /A 12A8H
128108 (JK)

BREO—RXH BEER T (3.79%K ) T (3.32k ) /A 12A8H

FoRy TER T (3.76K5E) T (3.30%K ) /A 12A9H
128118 (KR)

=k KR T (377K T (331K /A 12A9H

AS TER T (3.80%k ) T (331K £/ 12810H
128128(®) |BKoxA EER TR (3.80%k ) T (331K £/ 128108

YA ABH T (3.79%K5E) T (3.30%K ) £/ 12810H

3L BT T (381K ) T (331K £/ 1281180
12158 (A) |BTHhA EFR THEH (381K ) 3.35 £/ 128118

=Ed KR TR (3.83%k ) TR (3.32%k ) £/ 1281180

BRZEA BEER TR (3.84%K ) HEH (3.355% ) £/ 12A12H
128168 () [FoRY FEB T (3.82Ki%) TR (3.33%k ) £/ 128128

hE L R (3.85%K ) HEH (3.355% ) £/ 12A12H

oL At TR (3.82%K ) T (3.34%K ) £/ 12A15H
128178 (JK)

BKEO—XA EER TR (3.80%K ) FHEH (3.33% ) £/ 12A15H

=2 KR R (3.82FK ) T (3.34%K ) £/ 12A16H
128188 (K)

EHLH EFR TR (381K ) T HEH (3.33%K ) £/ 12A16H




A ) EBORA BEFE TR (3.83%k ) TR (3.35%k ) R 1281780
128198 (£

KR #HENE TR (3.84%K ) TR (3.365KiH) R 128178

1L i HEH (3.88% i) T (3.37K ) £ 12A18H
128228 (A)

KIREE A T (3.89% i) T (3.37kK ) /A 12A18H

=Ed KR T (3.82k ) T (3.33%k ) £/ 12819H
128248 (JK)

FoRy FEER T (3.81kK5E) TR (3.32%K ) £/ 12819H




